Download From: MASTERTEST.IR

¥+00

: chaol : P olgle pli : ol
T T R R v e
5@:‘{}}}1}}}}&}}1“.m.Lllrl!"L}h}‘#k}}}}khk}}kbk.‘!}kb}}}k}. AAAL }Lk}}}bb}h_Ln}}kh}}b}}}}}k}%{%
LA il 5>
Py ] . b D
EE‘E‘;E o E"“ﬂ- oo Sy o t':.l_.l ESlas 24 ikl olf sl FI E‘,‘EE
RS AMWIYA POy (03) gsas plal Yo
RN o)
Y 1 o
Al ' i Nl | iy,
] = A a8 e
Ry T e
B e e RS
:::*.M{ O el E‘:"‘t
',::¥¥1 ard Pl i blajle T
22 22
bS] - = s o . " A
f&'@ﬁ AR thl— J#'ﬁ 4"'"""9“'"’., lhlulj' wlﬂuu @Ihﬂjjﬁ 9939 UFJT EEE
B W w;
R b
] ey
el ey
R X
3 [ 1YY 05 (18 S5 38) wgildl g 2l 30 pole i Wy
) b oS
F ) b
52,0 b4
b 2 ) e
A3 S5l aiho WAe s pafily e 22
) A ; e
K4 R o i £ £, S L 1. 0.5, x e
Ei] ey
S &
i‘.':%%q Y et 0 ylonts g 3laad o giloial Slga ylaic k%‘:
W . R
;'qt‘::;ﬂ Sl U | ojlewd 31 | s slass ol Mgs Wil E':::
PAA Y 3 Y et g gages by | ) 20
ey el
1 A A 5. i Y. S| oY A
W - R
LSS .. ) T he | ¥ s
Awlele) L ek
b e
el ey
B o) el
Y e
P el
DA ek
AW | RS
E{‘ﬂ [ VWAA Jlo oo fregs 553
B985 !
b2 ) 2 b ot
B iy, ol s leas ol 3 oslizud A2
W WY

e
E‘h‘i‘h’h‘.'I-‘h‘h-"'hr‘h‘h‘b‘h*h‘h\-*h‘b‘h’h‘h‘h\-\‘h‘h‘h\‘ﬂh‘ﬂh‘h"'h-‘b‘i‘h‘l-\“i‘i‘h*i‘iﬁ“i‘h‘h‘h‘\‘h‘h‘\'\r‘h"h“b‘h‘i"h-"h“b‘lr‘i‘ﬂ‘b\r‘i“hH‘b\r‘\-ﬁ-&fhﬁﬁhﬁﬁh\h}‘hﬁi‘l




Download From: MASTERTEST.IR

AMWIYA acday pome (1) (panasi g cogos) cmadBil ol

PRT Vncahur}'

| Directions: Choose the word or phrase (1); (2), (3), or (4) that best completes
| each sentence. Then mark the correct choice on your answer sheet.

11-
12-

13-
14-
15-

What was intended as a peaceful demonstration rapidly --—-—- into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
The Democratic Party 70 percent of the vote.

1} garnered 2) esteemed 3) obligated 4) assembled
Some animals can - very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are

genetically to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important — to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is a common ---------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The for using this teaching method is to encourage student confidence.,

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to - economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11} ———--- the British Dominions were recognized as ‘autonomous communities’, {12) -------
the British Crown. Since 1947, when India chose (13) -----mm--- within the Commonwealth, it
has consisted of an inereasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
L) head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) 50 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4) outside

1) for 2) to who is 3)tothatof = 4) that she is
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PART C: eading nmphensinn

Directions: Read the following four passages and answer the questions by choosing |
\the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. |

Passage 1:

The major oceans include marginal seas. Some of these smaller systems are bounded by land or
island chains (e.g., Caribbean Sea, Mediterranean Sea, and Sea of Japan). Others not bounded off
by land are distinguished by local oceanographic characteristics (e.g., Labrador, Norwegian, and
Tasman seas). Marginal seas can strongly influence temperature and salinity conditions of the
major ocean basins. For example, the warm, saline waters of the Mediterranean Sea can be
detected over thousands of kilometers at mid-depths in the Atlantic Ocean. Comparing oceanic
depths and land elevations on earth, it is quite clear that relative to sea level, the landmasses are
not as high as the oceans are deep. As demonstrated by a hypsographic curve, 84% of the ocean
floor exceeds 2000 m depth, while only 11% of the land surface is greater than 2000 m above sea
level. The maximum oceanic depth, recorded in the Mariana Trench in the western Pacific,
amounts to 11,035 m. The highest elevation on land, Mt. Everest, is 8848 m.

16- The passage states that
1) the Mediterranean Sea isn’t bounded off by land
2) the Sea of Japan is bounded off by continental areas
3) the Norwegian Sea is a completely closed water body
4) Tasman seas do not have a long border with the ocean

17- According to the text -----=—-- .
1) the Mediterranean water mass has a lower salinity than the Atlantic water
2) the Mediterranean water can be detected at the deepest layer in the Atlantic Ocean
3) the Mediterranean water mass flows at mid-depths in the Atlantic Ocean
4) the Mediterranean water can be detected in the Pacific Ocean

18- It can be understood from the text that
1) a small part of oceans’ floor exceeds 2000 m depth
2) Mt, Everest can’t be placed in Mariana Trench
3) the oceans’ wolume is significantly larger than continents’ mass
4) a major part of land exceeds 2000 m above sea level

']
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Passage 2:

Temperature-depth profiles reveal three distinct zones in the ocean below the uppermost surface
waters (0 to 5 m): (1) the upper zone, (2) the thermocline; and (3) the deep zone. The upper zone
from 5 to 200 m depth is a well-mixed layer typified by nearly isothermal conditions attributable
to surface winds. Seasonal temperature changes are essentially restricted to these waters.
However, at depths between 200 and 1000 m, water temperature decreases rapidly, marking the
position of the thermocline. In low and mid-latitudes, the thermocline is a permanent
hydrographic feature, while at high latitudes, the thermocline may only develop seasonally. In
addition, a seasonal thermocline often occurs at a depth of 50 to 100 m in mid-latitude oceanic
waters.

Low stable temperatures (averaging 4°C) are found below the permanent thermocline.
Temperature profiles in low-latitude waters decline from 20°C in the surface mixed layerto 2 to
5°C in the deep zone.

It is stated in the passage that -————-,

1) the upper zone in oceans begins from the water surface

2) the deep zone is a well-mixed layer

3) the thermocline is a well-mixed layer

4) the uppermost surface waters has specific characteristics

Seasonal temperature changes in oceans can be observed only in -

1) the thermocline 2) the deep zone

3) the upper 200 m 4) all depths from surface to floor

The thermocline is a stable hydrographic feature

1) at high latitudes 2) at low latitudes 3) of world oceans 4) during seasons
Passage 3:

Degradation and destruction of natural ecosystems have long been recognized as severe
problems throughout much of the coastal region of the Persian Gulf. Destruction of natural
habitats is being carried out for urban, industrial and tourism development, locally also for
agriculture and forestry. Whole stretches of coastal habitat has been swallowed up for private
chalets and beach resorts, such as in the south of Kuwait, where it is now very difficult to gain
access to the coastline. Large parts of the shoreline in countries such as Kuwait and Bahrain are,
in any case, artificial, modified through dredging, coastal landfill and other development
measures. Much of the natural coastline between Abu Dhabi Izsland and Musandam will also
soon have disappeared, mainly due to urban and ‘ourist development. Development often results
in the destruction and degradation of high-profile habitats, including mangroves. On the north-
eastern coast of Bahrain, mangroves have largely been decimated. Massive coastal development
currently underway on Abu Dhabi island will greatly impact mangrove ecosystems, both directly
and indirectly, as has happened in other parts of the UAE (e.g. Ra's Al-Khaimah). Wanton
destruction ©f valuable habitats, often under the guise of environmental protection, is
unfortunately the norm. in the region. Mitigation measures, such as mangrove planting in sites
where they did not formerly occur, appear to be little more than a cosmetic exercise than any
credible attempt to offset the impacts of the current construction frenzy.

According to the text, natural habitats in the Persian Gulf have been affected by -————-.
1) transportation development 2) oil industry

3) urban, industrial and tourism development 4) fisheries’

The passage states that the impact of forestry on the Persian Gulf environment
1) isn’t general in the area 2) can be ohserved in all countrics
3) can be observed only in the northern part. - 4)isa general disaster in the area
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It can be understood from the passage that -————-- -

1) Kuwait shores are largely occupied by different constructions

2) Kuwait has no open access to Persian Gulf

3) Kuwait has a large mangrove area in coastal zone

4) shore constructions in Kuwait have not any negative environmental effect
The passage points to the fact that ————-,

1) some high-profile habitats in Bahrain are well protected

2) some high-profile habitats in Bahrain are destroyed

3) Bahrain is a high-profile habitat

4) on the north-eastern coast of Bahrain, mangroves have been protected

It can be understood that mangrove planting in sites where they did not formerly occur

1) is an effective exercise 2) helps to restore the ecosystem
3) is a very credible attempt 4) has no adequate effect
Passage 4:

The major surface currents in the oczans arise from global wind patterns. For example, the trade
winds produce the northward-flowing westem boundary currents, and the westerlies, the eastem
boundary currents. It is these long-term winds (e.g., prevailing westerlies and trade winds),
together with the Coriolis force, that generate a series of gyres or large circulating current
systems in all ocean basins, centered at approximately 30°N and 30°S. The gyres circulate
clockwise in the North Atlantic and North Pacific Oceans and counterclockwise in the South
Atlantic, South Pacific, and Indian Oceans. Tl rotation of the carth displaces the gyres toward
the westen boundary of the oceans, creating stronger currents along this perimeter and
effectively separating coastal ocean waters from the open ocean. The displacement of ocean
gyres toward the west resvlting from the rotation of the earth causes a steeper slope of the sea
surface than toward the east. The steepness of the slope controls the current strength. Thus,
western boundary currents (Gulf Stream, Kiroshio, Brazil, and East Australian currents) are more
intense, deeper, and narrower than eastern boundary currents (California, Humboldt, Canary, and
Benguela currents), which are characteristically slow, wide, shallow, and diffuse.

It is stated in the passage that ---- .

1) winds are the main generators of ocean currents

2) only one kind of currents can be found in the ocean

3) currents occur only between 30° N and 30° S

4) currents occur only in the Atlantic Ocean

According to the passage, the main creators of gyres are -———---——,

1) the eastern boundary currents

2) prevailing westerlies, trade winds, and Coriolis force

3) located in the Indian Ocean

4) located on the surface of the ocean water

The separation of the eoastal ocean waters from the open ocean is the result of
1) prevailing westerlies 2) trade winds

3) global wind patterns 4) earth rotation

It can beunderstood from the passage that
1) Kiroshio current is shallower than Humboldt current
2) East Australian current is wider than California current
3) Benguela current is deeper than Gulf Stream

4) Benguela eurrent is slower than Gulf Stream
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